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TH4 | SF6FEEL LRI R KRR A2 T35
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
DI =X 1 126, 957, 501
ps+ T = 1 12,210, 175
PRI (1ICT) m3 1, 200 887,580 |HiEH!I (WXES) (ICT) 1 =
+H 3, 000m3KIH B
FEHI (ROBH) 1 X
+#5 3, 000m3AT FEE4E
RE T m3 60 386,534 |+ (G 1) 1 2
2. 5mAT ;
FEHA O-27) 1 X
+1 850, 000m3AT ;
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
Rkt A =X 1 413 | IEmEER (B 1) 1 m2
T i S O I BRI
TR T (ICT) =X 1 77,430 | IEEEEA (BVE5) (ICT) 30 m2
e
P v T = 1 10, 858, 218
Vi L = 1 40, 301, 641
T 2 1 826, 697 | BHETHT HLAE 53 m
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L KRBT ny ) FEHfE 18 m
65 KT ny) JLHfE 15 m
77 ny R HERE T X 1 5,263,071 |av7)=h (R%A) 7" ny )k 162 m2
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@%F/hr k)
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B HibR 2 m2
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B Hikr 9 m
I XVRE t=10mm ;
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BRE
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MR T VI A v FEFR BIZEH 15~20cm ;
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ERARI I AT T 252,339 |47 =N V-w 57 m
(Gr-C-2B)
TS Gr-C-2B 21mPA F100mAHiE s 4l 1E
M .
-5 - Etasmy  PESE R




DR BB TR IS PE 20U T H #py

s Sefe =
FEAENGRE
T4 | SF6EELEMEE LR KBR)E 2 T35
TEHX4y « Tfd - FER B Az £ & F #m il N BN
o5 AT SE R T = 709, 480 | 15 BLREMALAE 30 m
GB-1-1C 24 T
Ak T = 1,071,077
TAT 7 MRS T = 1,071,077 | F/Eksiz (B8 - BEE) 233 m2
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FADRLFE ST RM-30 {1 Y & 100mm ;
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FRAE BRI EET A2/ (20) A2EE 50mm 3. OmiZ ;
X R T = 24, 717
X R T = 24, 17 | VA b= R 72 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
HEYE T Y 6, 542, 560
[t = T 2 93,651 |BAEEMHRE (7 =1 V) 57 m
s EEE L T Y 1,974,561 |av))-ME&EEWEEE L 246 m3
MEAHRETEY) FEAOE T
ELERR O W 15 m
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FEAK Y- M E 700 m2
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e S T B 1 E
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BARELT m3 340 669, 113 | BRIRRE 1 1 2y
2. 5mAT ;
PR 1 1 X
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Vol =
FER N E
TH4 | SF6FEEL LRI R KRR A2 T35
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
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FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
BEARRE AT m3 10 56, 790 |¥&ERE T 1 =
e N m3 2 257 | ARS L 1 2V
Rkt A = 1 16,402 | JEmFET (8] 1-56) 20 m2
BGHNOE WE L R OWE L ML
fiA T 2 1 13,954 | N TR 20 m2
(bb¥)
KA+ 5L = 1 6,382,082 |FHA (b-2") 1 =
+Hw 550, 000m3 AT ;
T wb AT 1 2V
0 CaBl- EHIRY £5Te) ;
KA+t H 514 EES
JEAY—h 668 m2
t=10mm ;
FIRT 2V 1 842,400 |KEIRHEKE 180 m
R V2V ¢ 1500 WIEEIRE
TA7 7w Ml T 2 1 1,395,610 | FJ@M% (BE - BRIEE) 586 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 584 m2
TR BT A2y (20) 4f2EE 50mm 3. Omtd ;
A T = 1 228,657 |7Ah-=7" 169 m
(AC-1-1)
HERIEET 22 (13) 215em2LA 235cm2Ai ;
ESETE 2 1 53,192 |~ Ay X R 120 m
N A b AL FERR 15em INEA ;
A Ay AR E R 230 m
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THEL | ARG L SR LSRR D 552 T

TEHEX Sy - THE - R B {7 % & A bl A iR
PEANIBA AT L 2 693, 120 |HZUERASD =1 Vb 120 m
=T = 6,093,900 |3FEIEEHZE 1, 100 m3
T wb AT 1 2V
0 Cabl- EHIRY £5Te) ;
e 1 =
BIL O-27)
T wb AT 1 2V
0 Cabl- EHIRY £5Te) ;
135 A 1 X
KA+ 5 s 514 &
Ay MAEE 668 m2
e 32 m3
BET 5290
By 32 m3
BET 5290
IR KA R 180 m
i G
Bl A S i 13.41 t
B R A 2 120 m
EhAE AR AR 580 m2
TA77VMERZE IR Bf2ERRIE 5 cm ;
o 1 33 m3
TAT7IVNEE
139 A 1 X
By 33 m3
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% T = 8,331, 120
KT = 913, 070
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THEXSy - THE - FE5 H7 % & i Gl 2 N

HEARE T X 1, 005, 692
TR A L =X 1, 346, 854
Bt ik I =X 94, 224
AZIEE P =X 2, 935, 680
[P X X 126, 957, 501
Hm R A 2V 13, 430, 924
e Tre: 2V 2,021,924

Bl s 2V 612,924 | fR~FE 2R (ICT) 1 E2y

VATARI I # (1CT) 1 X
BUGBREIUEL (REH L) 2V 1, 409, 000
sty (R L) 2V 11, 409, 000
ol T X 140, 388, 425
TR e gL 2V 43, 035, 000
T AT X 185, 230, 625
— i PR 2V 29, 199, 375
N 2V 214, 430, 000
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& L =X 992, 200
KREL X 365, 700
PRS- H 4 =X 626, 500
[P X X 992, 200
Hm R A 2V 186, 000
ety (REHL) 2V 186, 000
ol T X 1, 178, 200
TR e gL 2V 629, 000
T AT X 1, 807, 200
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